' Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5257.dwg

POWERED Bvlg
il

ENDURA

DOOR COMPONENTS MADE IN THE USA

Ultimate Flip Lever Astragal

in a Double Door

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 Infemational
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact profective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rafing shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Sections, Design Pressures & General Notes
Door Panel Details

Vertical Cross Sections

Horizontal Cross Sections

Frame Anchoring

Bill of Materials & Components

ONOINI [

i

Ultimate Flip Lever Astragal

73.97" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.12" MAX. O.A. FRAME HEIGHT {OUTSWING)

1

ANy

ULTIMATE FLIP LEVER ASTRAGAL by ENDURA

DESIGN PRESSURE RATING (PSF)
MAXIMUM FRAME SIZE POSITIVE NEGATIVE
MASONITE INSWING 73.97" X 97.94" +45.0 -50.0
Opaqgue
(FIBERGLASS) OUTSWING 73.97" X97.12" +50.0 -50.0

Lej
g
g 0
]
9 0 59
£ B 2%
g . s 9 =0
oWogn 2
u_ﬂ. = ~ ml.l.
.fo
c - S
o go"l z
S 8a 22
c- £ 908
3 P~
3 HE0 nE
23w @E
2 -
s 58" 98
) OWN= oo
o 4
o O XZ
2 B9 b
o C
a ﬂo'o 0
] 5Q¢ %E
o moa 05
g
I
5 B
£ & )
O
O
o
)
>
GO
h<
o2
oyl
< =Z=Z
o g Ol
=2 I E©
Q m O
= s s
Ly ol o
;) [%2]
0] ~itd
<} <C Oz
. SS
5 TR
35 © e
3 g &
e [a
£ g
>..
m
[72]
=
Q
2]
el
L
<C
(o)
o
=z
DATE: 12/16/21
scale: N.T.S.
pwe. BY:  RW
CHK. BY: LFS
DRAWING NO.:
TX-5257

SHEET 1_OF_6_

© 2021 R.W. BUILDING CONBULTANTS INC.



cp

95.25" MAX. DOOR
PANEL HEIGHT

MASONITE
Opaque
{fiberglass)

— 2.09" —= STILE (LVL)

KNOB: SIGNATURE SERIES (991)

DEADBOLT: SIGNATURE SERIES (980/985)

STILE (LVL)
I )
R
T TOP RAIL
— (WOOD)
16 WOOD
LOCK BLOCK
(21" LONG)
@ HORIZONTAL CROSS SECTION N
2
FIBERGLASS SKIN .
0.075" MIN, 3
35.75" MAX. ( ) \ o
PANEL WIDTH
>
| 1
INTERIOR EXTERIOR
=
FOAM CORE
] (POLYURETHANE | ™
“ .
X © \ T
BOTIOM RAIL \
SEE HARDWARE (COMP) _
TABLE R

]

@ VERTICAL CROSS SECTION
2

ui
L]
83 £ o
Ex o ug
ﬁ* n ze
. s 1 =
wu o 9mn 94
LLD. = LS
.gdo
I - 3%
°£ goq 2z
B 222 56
>‘I— = N X=
2 Jge nE
2>m Q&
205 QG
3 on ®O
) O N g
o 4
o O35z
® Z Ol
[ aloe ¢}
v} c
o 256 2
? RJ& gk
o 0. b
o8
P Rt
s 2
o
PR
o
o
o
L
= Z0
> o
S |gsE
[Vl
t Sl o0
n O
Q Q
£ o
(3)
8 (o]
2 b
o o
>..
m
[72]
=
O
2]
|
0
-
<
0
O
=z
oATE: 12/16/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5257

SHEET 2 oF 6

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5257.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



TONI ELNVLIINENDOD BNIQTING "M LZ20Z O

298LL—d4 # NOLVMISIORM 40 ILVOLAILNIO SNOISIATY i
SHIINIONI TYNOISSIAOMd 40 aMvOd SVX3L SNOILO3IS SSOYI IVILLYIA A8 31vd [ON < =0 ~ 6_
. . . %] L
L6L6'659°CLY "ON euoyd : N2z N vl
S6SEC "4 OOWIDA OFZ Xog ‘O'd \Su@ AMENISSY d0 1dvd 2 = so|°
‘ONI "SINVLINSNOS ONIgTNG W .. = ) 3_
~ Ja|8lg &=
£ZLOLF I'd SVXIL VANaN3 @ m glx|Z &
"A'd PSS 4 Uopukl :Ag pedodesd siuewinoso( LONQoXd 3518 W 515 5
/2 -0z z/

o WOOD
0 CONCRETE

AN

WIS

m VERTICAL CROSS SECTION

\y Qutswing sill

i NSO

@ S0

e /-DRYWALL

4

7
INTERIOR

Y
y
y
¢
y
y
4
]
¥
¢

\\/
m VERTICAL CROSS SECTION
\U Outswing shown {Inswing similar]

K ) woob
D ) CONCRETE

EXTERIOR

EXT. SHEATHING —\

Inswing sill

EXTERIOR
VERTICAL CROSS SECTION

A\
(s

(2
N\

ELEVATION
XX

&

{1
%[ (s
<>,

A4

Bmp£525-XL\sBuimeid - D\LIVdINI - XX 100Q D4 auosey anbed XXXX-¥Q - IGL\su} Jo 1daq sex - G\ININVINYId BINPUI\SIUSID\Z



‘ON| BANVLINSNOD SNITTUNG "M°Y 1302 O

ZS8LL—d # NOLVMISIORN 40 3LVOIHILNIAD SNOISIATY .
SNIINIONZ TVNOISSIH0Nd 40 QMVOSE SvXEL SNOLLDIS SSOND TWINOZIMOH | A8 31va [ONj=o) | 2lol ~ 6_
- - .o S F
LBLE'6SO'CLE I"ON eucyd : o 2EY] vl
G6SEC 14 OOUIBA OSZ %08 O \S«&. TXIENESSY d0 Luvd © _M S8
‘ONI ‘SINVLINSNOD ONICnIng y . = v_A 4_
- |&aj&lg &2
CZLYOLE ' Sl VINAN3 i m 6|y m &
A'd IPIMIYDS "4 UOopukl :Ag pedpdesd sjusuinoo( -L0Nao¥d HEIREE &

v T2 T ' )
& TamiHoS 3 NOGNALS

ﬁwq::h..sco w ¥,.
% 5, ing
.&* 6 5
y wmw %w\ o, ~ /;w Y

‘aunq‘.tnu .l(
M 31790 25F
.ﬁwﬁj@ﬁﬁiﬁfe

PR A

/2> HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

az o
o O
0z e
& &
&= ]

A\

0.15"
C'SINK

=
ol
ol
« W &
AlG
D
o # wlC
1 ] X
f ——d = = Q2
— o
oF—t——F4 Ve
< 3 ~:| &
B % |
O T = 2/
: S [ Q|2
X =3 Fl# u.ll
3 3 : |2
¥ S Q|3
S 1 x|0
B~ il
mw

) @ é

DRYWALL —\

Bmp’£525-X1\sBuimelq - J\LIVdINI - XX 400Q D4 sjuosely anbedO XXXX-¥d - 1AL\su} 40 3daq sexa] - B\LNINVINYI enpuz\suaid\z



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5257.dwg

2
1%

20,
=(9)

HINGE DETAIL 1
e || & /@
Lo ||l
DN =0
\
A\Y
HINGE DETAIL 2

9.31" FROM
TOP OF JAMB

The head is aftached to
the jomb w/ (3} 7/16"x 2"
steel crown staples (TYP.)

EEQ\
SEE HINGE
DETAIL 1
TR
J
o
=
o SEE HINGE
1 DETAIL 2
/]
2R
HINGE JAMB

The threshold is aftached to the jomb
w/ (3) 7/16" x 2" steel crown staples &

4" (TYP.)
4'(TYpP.) —-—1 6" (TYP.) ——] = 4
1 1\1 I |
DETAIL 1 -
_ 4 *E
HEAD & JAMBS
(TYP.)
FRAME
TYP)—J™ ™
REEER
N \
CONCRETE iE
2=
woop (K ) 23
SiL DETAIL 2
5 (TYP.) / |
: LA I
5" (TYP.) —=]
4 [TYP.) ——
FRAME ANCHORING

(1) #8x 1-5/8" wood screw (TYP.)

DETAIL 1 \CD

1/2" DIA. HOLE
(TYP.)

ASTRAGAL STRIKE

SEE LATCH &
" DEADBOLT STRIKE
PLATE DETAIL

SOy,
43,4,

:;." ’/-%?‘L(‘:’
o

4
A
-

et ol
*
G
»* .

senen

s
£}

3

e
A
+

g
QLT
F
04123

s
-<g
IYNDON

Puesegeereds FTYaidd
o

«

5y "

9

§

L N
x5

s

%

/2' 20~ Z/

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

LATCH & DEADBOLT STIRKE PLATE DETAILS

ES J’;\_Q—'k

DETAIL 2
Outswing

Documents Prepared By:

P.C. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Ry

ENDURA

PRODUCT:

FRAME ANCHORING

PART OR ASSEMBLY:

REVISIONS

=
<
a
o
z

DATE: 12/16/21

SCALE:

N.T.S.

DWG. BY:

RW

CHK. BY:

LFS

DRAWING

NO.:

TX-5257

SHEET 5 oF 6

@:7 2021 R.W. BUILDING CONSULTANTS INC.



ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX Opagque Masonite FG Door XX - IMPACT\C - Drawings\TX-5257.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A | 2XFRAMING (SG >=0.42) wOOD
C |1/4"MAX. SHIM SPACE -
D | 1/4"PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F[#10X2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
G | 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K | #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L | #10X2-1/2" PFH WOOD SCREW (1.5" MIN. EMBEDMENT) STEEL
1 FINGER JOINTED PINE JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP PVC
9 | #9 X 3/4" PFH WOOD SCREW STEEL
10 | #9 X1"PFH WOOD SCREW STEEL
11 [4"X4"BUTT HINGE STEEL
13 | INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
26 | #8 X 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | ENDURA ULTIMATE FLIP LEVER ASTRAGAL ALUM
51 | ASTRAGAL BOLT STRIKE PLATE STEEL
52 | #8X3"FH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to moriar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

"W BUILDEX

X 3/14"
TAPCON 1/ - ].3/ T 2" 4"
sracoNs| VA | e 1" 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws

to prevent the splitiing of wood.

0.75"

‘ 4.56" |

P LTV

| 2.36" !

( : ) WOOD JAMB

1.2

I Al 92
| . | T
. 456 | - 456"
13 INSWING ADJUSTABLE THRESHOLD OUTSWING THRESHOLD
LAIL4565 14 ZOBLA4565
l—- 175" ~>l
f e
;/ NYLON BOLT RETAINER

2.65"

— 0.063"

RN

5/16" @ STEEL SLIDE BOLT
— (17 LONG) @ EACH END

50 ENDURA ULTIMATE FLIP LEVER ASTRAGAL

al
2
g2, o
£ a2 4g
G . s M &£
LY
u‘ﬂ.. -—j,\ fu
- ()]
c h‘!“' e S
§3 Es2 3z
4 2288 566
3. L =
> Jpg0 0
258 @é
z Lt
s GR® 93
) ON% aw
o 4
8 287 u
¢ 5% 98
5 8. 4
g 5092 gp
x m oo og
m=
! g
; 2%
E &‘ o
3 I
O
[a]
i
32
g | 52
T |,
a |& =g
S
o ©c
w
2 O
5 |8 °
S S
o =
0. n
>
mn
n
z
[
n
¥
B
<
a
o
=
DATE: 12/16/21
SCALE:  N.T.S.
DWG. BY:  RW
CHK. BY: LFS
DRAWING NO.:
TX-5257

SHEET 6 oF _6

@ 2021 R.W. BUILDING CONSULTANTS INC,



